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Mﬂ (BapTERS S & 4 REVIEW
Looy= (z:gzéx—§25=o g
X=-9 X=5 /\
X=intse: —9 and 5
2. y=T(x+5)-8
Nertex . (_—?;8}-
Axis of S\.;ﬁl\r‘ile*rgg X==5 B
X Y= -6(x+3)*+9

I

Vertex. GSJ(‘:‘!‘) Opens Downward
Dormains {XEX&F{} %r\_qci {_\r’ 1\,f-": q)YCﬁl}
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4. V= 3 (x+1)+9
]~ ] C
Vertex s (-1 ,9) Opens Upward

5 ,- \TI = ‘“2}(2-‘: 8x+9 (:!_5 £ind vertex-> ?:omp\c.*r_ -‘:hcsqurc“
y=-2xE0x)+Q
= =2 (Xux+4-4)+9

= -2[(x>ax+4)>4]+9
;"f- ~2E{x—2}*—4] +9
= =2(x=2) +8+9
= =2(x=2) +17
J {
%"ftr-‘rf_'.)(_: CQ_)J l_]) A

6. Y=3x+2)=7 (Vertex Form)
v= 3(x+2)X+2)-T
V= 3(xH%2ox+2x+4)-7
vy = 33+ Hx +4)-77
NJ= SX2+ 12X+ 12-77

C =3+ 12x+5 (Standard Form) /A\
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7. -2X*-SHXx-340=0
a=-2, b=-54, c=-340

=-b* Jb2-4ac
2.Q
X = 54 (=54 F2)(=340)
2(-2, -
Y=5849% {2916-9720

_‘_!"H
¥ = S%il_}\jlclcp
X=84*14
-4

X=84 4|4 aond X= S5-I

-t} —t
X= 6% X= 40

T — L '_1\

X:#!h? ¥= -0 L
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B AIxZ24%x=26
AX*=24Hx=26 =0
a=2, b=-24, c=-26
X=-b¥Jh?’-4Hac
Q
X= Q4+ NERHEH0ERYR0)

202)
X= 24*YJ57¢ +208

X= 24% F@ﬁ

I_.{
XK= ook 28
1,+
X=24+28 and X=24-2%
o =t
X= 82 X= -4

X= 15 xe-t o C
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9. 1 x*-400=0 (DFf of Squares)
"(9%-20) (@x+20 = O
9x-20=0 AQx +20=0
Ix=20 Ax=-20
ﬁ- y (' ] A
= 20 X= =20
20 &q_ A

X 12=0 X

e
M

/ . E @iscﬁmin&ni—)
D= b“ ac
= Co. 5)% (4.9)(8.7)

0.25 = 170.J32
= -170.27

Since :Dé(,')) no treal roots. C
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- f—}l? 1)
= x1+.6 =
TGRS TS B
1. %X*+5%x-300
(x+20) (x—-15 ) A\

SHORT ANSWER
Liy=—-3%" 4+ {2x=10 (Standard Form)

v- -3(X*- “4x)-10

= — (x4 x+4-4)-10
= -3[(x>4x+4)--4]-10
= -30(x52)=4]-10

Ny = 5(x 2)2+1:2:IO

A= —B3(X-V)*+ 2

2. X+ B2x+ K
K= (3)

\2»/

(e)*
o

\f
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3. 2Cx=2Y+ 200 x~-2) +M8
Aet r=X%X-2
Ar*+20r+48%

2.(r*+ jor +24).

2.0+ )+ )

L2 ] [(x-2)+ 6]
L (X+2)(Xx+H)

X*+4x-2l=0
a=1, b=4, c=-2l

x=-bt\ b*-4ac
2a
X= -4 =20

2.Q\
X= -4 {1+ 8

2
X=-2% Nioco
=2

g &

N

X=-4% 10
2.
=-4+10 and X=-4-10
2, -
X= 6 Wom ==iif
2. 2

X= 3 X=x]
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X = 10 NG
-
X=10%F 2"
'
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